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Az E Bt BEREMA BRMOEEBA) | T masTooEs® | | PER |mamTnorEsm | ‘ :
W | BAR B -Erk
4R 8| BRI IR 9.67 0.05 0.03 A280 4818 A280 0.07
4R 8| BRI IR 9.91 0.06 0.03 A280
4R 8| BRI IR 9.85 0.04 0.03 A280
4R28 | BRI IR 9.96 0.05 0.03 A270 4828 A270 0.06
4R 28 [#H(E—) [FLCA (FREKEEY) R 9.61 0.04 0.02 A270
4838 | BRI IR 9.91 0.05 0.02 A260 4R3H A260 0.05
4838 | BRI IR 9.7 0.05 0.03 A260
4R30 |#y & BAIR BRI 8.15 0.06 0.02 A260
4R38 [#MH(ED) BN R (EEAEER) K 9.97 0.08 0.03 A260
4R38 [#MH(ED) BN R (EEAEER) IR 9.94 0.06 0.03 A260
4R 38 [#H(E—) [FLCA (FREREEY) £1:373 9.71 0.03 0.02 A260
4R 38 [#H(E—) [FLCA (FREKEE ) R 9.82 0.03 0.02 A260
4R 38 [#H(E—) [FLCA (FREREE ) 1374 9.44 0.04 0.02 A260
4848 |B&%HMH BRI ek 10.27 0.05 0.03 A270 4A4R8 A270 0.06
4R48 |#am(E—) [FVCA (FRIREEH) IR 9.82 0.04 0.02 A270
4A48 |EE4E BEHNIR R 10.13 0.17 0.02 A270
4858 | BRI IR 9.85 0.05 0.02 A260 4858 A260 0.05
4R 58 [#MH(E—) [FLCA (FREREE ) 1374 9.64 0.05 0.02 A260
4888 |B&EEHM IR BRI IR 10.25 0.05 0.03 A260 4F8H A260 0.06
4598 | BRI IR 9.73 0.05 0.03 A270 489R A270 0.07
4R98 [#MH(ED) BN R (B L AEER) IR 9.91 0.07 0.04 A270
4A98 |EE 4 BEHNIR R 10.14 0.10 0.03 A270
4R108 [h)Ilh BRI IR 9.83 0.05 0.03 A260 4R10H A260 0.06
478108 [#r B4 E BAEIR BRI 8.49 0.06 0.02 A260
4R 108 |#ahH(ED) N R (B L AEER) IR 10.26 0.06 0.04 A260
4A108 | EEL W BEHNR R 10.15 0.12 0.02 A260
4A108 | EEL W BEHNIR R 10.16 0.19 0.02 A260
AR B|hIW BRI IR 9.85 0.05 0.03 A310 48118 A310 0.04
4R 128 [4A™H k(479 IR 11.46 0.10 0.02 A300 48128 A300 0.04
4R158 [h)Ilh BRI IR 9.82 0.06 0.03 X300 4R 158 X300 0.04
40158 [BEHM IR BRI IR 10.23 0.05 0.04 X300
4R150 [#y BHE BAEIR BRI 9.72 0.05 0.02 X300
4R158 |f#ahH(ED) N R (B L AEER) IR 9.90 0.07 0.04 X300
4A150 | EEE W BEHNIR R 10.01 0.14 0.03 X300
4R168 |faH(ED) N R (B L AEER) IR 9.92 0.06 0.04 A310 4A168 A310 0.06
4R168 |fahH(E—) [FLCA (FREREEY) £1:374 10.20 0.04 0.02 A310
4A160 | EEZ W BEHNIR R 10.10 0.15 0.03 A310
4R178 |hIIH BRI IR 9.84 0.05 0.03 X300 4R178H X300 0.06
4R178 |MAHED) N R (B L AEER) IR 9.97 0.07 0.04 X300
4A170 | EEL W BEHNIR R 10.19 0.17 0.03 X300
4R188 hIITh BRI IR 9.97 0.06 0.03 A310 4R18H A310 0.06
40188 [BEHM IR BRI R 10.25 0.05 0.03 A310
4R188 |#AH(ED) N R (B L AEER) IR 9.82 0.07 0.03 A310
4R 188 |EmMHEE Bk Ik R 9.74 0.04 0.02 A310
4R198 [th)Ilh BRI IR 9.90 0.06 0.03 A300 4R198 A300 0.05
4A190 | EEE W BEHNR R 10.20 0.13 0.03 A300
48228 |#rBHE BAEIR BER 9.65 0.06 0.02 A300 4R 228 A300 0.05
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Az E Bt BEREMA BROOBAI) | e o | masTnorEs®) | | PER |mamToorEsm .
W | BAR B -Erk
4R 228 |#AHED) N R (B L AEER) IR 9.93 0.06 0.04 A300
4R 238 |f#AH(ED) BEHN IR (b ) IR 9.7 0.07 0.04 A290 4R 23R A290 0.05
4R 238 |#aH(E—) [FLCA (FREKEEY) MR 9.38 0.04 0.02 A290
4A230 |EEE W BEHNR R 10.18 0.17 0.03 A290
4R248 [h)IITh BRI IR 10.00 0.06 0.03 A300 4R 248 A300 0.05
4R248 (BEH™ IR BRI IR 10.22 0.05 0.03 A300
4R248 Sy BHE BAEIR BRI 8.83 0.05 0.02 A300
4258 [(IF A AL TR R R 9.24 0.05 0.03 A280 4R 258 A280 0.06
4R 250 #yr BHE BAEIR BRI 9.90 0.05 0.03 A280
4R 250 #y B/HE BAIR BRI 9.65 0.05 0.03 A280
4R 258 |faH(E D) N R (B L AEER) IR 9.97 0.07 0.04 A280
4A250 | EEE BEHNIR R 10.15 0.13 0.03 A280
4R268 [4A™ k(479 IR 11.20 0.07 0.03 A270 48268 A270 0.05
4R30H #r A& BAEIR BER 9.88 0.05 0.03 X280 4R 30R X280 0.06

4F 308 |EELH BERN R IR 10.15 0.15 0.03 X280
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BREAIE S ERA BREBAIE L %8 BREBAIE R ERC
XAIELEE  1E/B (EHETHLEVA K XGBIESRRE : 11/ XAIESEE 1E/A
e S AT ] TE Rt PR ] TH . B T ] TH | Bt PR
mens | ohan | memam | em | 2a | 22 || BB omwsm BB | @gormmmy | FRE &1k ®-2Fi
4818 0.05 0.04 0.03 0.05 0.05 0.05 1811 | 1340g| ¥cs| CsET 1811 | 1340g| ¥cs| CsiEt 131 | ¥4cs|¥cs| CsEH| 31 | *4os| ¥ Cs| CsEt
4A28 0.05 0.03 0.03 0.05 0.05 0.05 4848 | ND|ND |25 |25 | (4848 | ND|ND|ND|ND|4H4H | ND|ND|ND| ND| ND|ND| ND| ND
4838 0.05 0.03 0.03 0.05 0.05 0.05 10 |12 [15 | — 78 |99 [100| — 09 [12 |13 | — [11 |13 12| —
4748 0.05 0.03 0.03 0.05 0.05 0.05 4H8H | ND| ND |38 |38
4858 0.05 0.04 0.03 0.05 0.05 0.05 13 |14 [13 ]| —
4A8H 0.05 0.03 0.03 0.05 0.05 0.05 48158 | ND | ND | 45 | 45
4A98 0.05 0.03 0.03 0.05 0.05 0.05 1109 [13 ] —
4A108 0.04 0.04 0.03 0.05 0.05 0.05 48238 | ND | ND | 3.7 | 37
4A11RH 0.05 0.04 0.03 0.05 0.05 0.06 10 |15 [14 | —
48128 0.05 0.04 0.03 0.05 0.06 0.06 4H308 | ND| ND | 38 | 38
4A158 0.05 0.04 0.03 0.05 0.05 0.05 10 |14 [13 ]| —
48168 0.05 0.03 0.03 0.05 0.05 0.05 MGRIESERE  RANE/BZAN
48178 0.05 0.04 0.03 0.05 0.05 0.05 EBETHLEVE, BIXRSG
4A18H 0.05 0.03 0.03 0.05 0.05 0.05
4A198 0.05 0.04 0.03 0.05 0.05 0.05
4A228 0.05 0.03 0.03 0.05 0.05 0.05 4B M O Bg/L]
4238 004 0.03 0.04 0.05 0.05 0.05 gmAE | TR RETRE
48248 0.05 0.03 0.03 0.05 0.05 0.05 1811 | 1340g| ¥cs| CsEt
4A258 0.05 0.04 0.03 0.05 0.05 0.05 4F4H| ND | ND | ND | ND
4268 0.05 0.04 0.03 0.05 0.05 0.05 1112 (13| -
48308 0.05 0.04 0.03 0.05 0.05 0.05 XIMRNRR R TIEF R




